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axybyaxybyax )1(11   

01≧y であるから 

 

0a のとき yabaaybyaxyby )(1)1(1)1(1  ≧  

 0 ab  ab  のとき 021)(1)(1  baabayaba ≧  12  ab  ──① 

 0 ab  ab  のとき 01)(1  ayaba  10  a  ──② 

 0 ab  ab  のとき 01)(1)(1  babayaba ≧  1b  ──③ 

 

0a のとき byaxyby  1)1(1  

 0b のとき 011  bby≧  1b  ──④ 

 0b のとき 011  by  

 0b のとき 011  bby≧  1b  ──⑤ 

 

0a のとき yabaaybyaxyby )(1)1(1)1(1  ≧  

 0 ab  ab  のとき 021)(1)(1  baabayaba ≧  12  ab  ──⑥ 

 0 ab  ab  のとき 01)(1  ayaba  01  a  ──⑦ 

 0 ab  ab  のとき 01)(1)(1  babayaba ≧  1b  ──⑧ 

 

 

以上①～⑧より、右図の通り。 

境界線を含まない。 
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